Right lalscalar] | [alcolumn] | [alrow] [al root] rAL [al]
Left inJov] i JinJov It linJov]l It linJov]fJlinJov] f]linJov] If]inJov] If
<> <> <3| <> <> > <> > >
[al scalar] <) < <3| < <3| = <> > >
[al column ] <> <> <> <> > g
[alrow] < < < < — >
[alroot] =
[al]
LAL
Right| [xreminasym| | [a2scalar] | [a2column] | [a2row] [a2 root | P A2 [a2]
Left inJov] il inJov ]It linJov]lflinJov]fJlinJov] f]linJov] If]inJov] If
<> <> <3| <> <> > <> > >
[a2 scalar] <) < <3 < <3| = <> > >
[ a2 column | <> <> <> <> > g
[a2 row ] < < < < — >
[a2root] =
[a2]
LAz
Right| [asteminarsym| | [a3scalar] | [a3column] | [a3row] [a3 root | T A3 [a3]
Left inJov] i JlinJov ]It linJov]l It linJov]IfJlinJov] f]linJov] If]inJov] If
<> <> <3>I<> <> > <> > >
[a3 scalar] <> < <3| < <3| = <> > >
[ a3 column | <> <> <> <> > g
[a3row] < < < < — >
[a3 root] =
[a3]
LA
Right| [sa7eminarsym] | [a4 scalar] | [a4 column] | [a4row] [ a4 root ] P Ad [a4]
Left inJov] i JinJov ]It linJov]lIflinJov]fJlinJov] f]linJov] If]inJov] If
<> <> <3 <> <> > <> > >
[a4 scalar] <> < <3 < <3| = <> > >
[ a4 column | <> <> <> <> > g
[a4 row ] < < < < = >
[a4 root ] =
[a4]
LA
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Right [ a5 scalar ] [ a5 column ] [a5row ] [ a5 root ] E A5 _: [a5]
Left inJov] IfJinJov] iflinJov ] IflinJov] flinJov] If]inJov] If]inJov] If
154 [ B Lo £ I £ s <> > >
[ a5 scalar ] <3| < <3| < <S> = <> > >
[ a5 column | <> <> <> <> > g
[a5 row ] < < < < = >
[a5 root ] =
[a5]
LAS
Right [ a6 scalar ] [ a6 column ] [a6 row ] [ a6 root ] L ZAE‘):: [a6]
Left inJov] ifJinJov] flinJov]lIflinJov]If]inJov] If]linJov] If]inJov] If
<S> ISl <o 1< > <> > >
[ a6 scalar ] S| < <3| < <SS = <> > >
[ @6 column | <> <> <> <> > g
[a6 row] < < < < = >
[ a6 root ] =
[a6]
LAB
Right [blscalar] | [blcolumn] | [blrow] [ bl root] ' Bl [b1]
Left inJov] ] IflinJov] i linJov]lflinJov] flinJov] flinJov] IfJ]inJov] If
<> <> <3>I<> <> > <> > >
[ b1 scalar] S| < <3| < <3| = <> > >
[ b1 column ] <> <> <> <> > >
[blrow] < < < < = >
[ blroot] =
[b1]
TB1 !

L=t
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Right [b2scalar] | [b2coumn] | [b2row] [b2 root] ' B2 [b2]
Left inJov] IfJinJov] iflinJov ] IflinJov] flinJov] If]inJov] If]inJov] If
<S> 1>l <ol <> > <> > >
[ b2 scalar ] <3| < <3| < <S> = <> > >
[ b2 column | <> <> <> <> > g
[b2 row ] < < < < = g
[ b2 root ] =
[b2]
L B2,
Right [b3scalar] | [b3column] | [b3row] [b3 root ] ' B3 [b3]
Left inJov] ifJinJov] flinJov]lIflinJov]If]inJov] If]linJov] If]inJov] If
<S> ISl <o 1< > <> > >
[ b3 scalar ] S| < <3| < <SS = <> > >
[ b3 column | <> <> <> <> > g
[b3 row] < < < < = g
[ b3 root ] =
[b3]
L B3
Right [clscalar] | [clcolumn] [clrow] [clroot] E :C:l:: [c1]
Left inJov] ] IflinJov] i linJov]l flinJov] flinJov] flinJov] IfJ]inJov] If
<>|<> <3>I<> <>\ > <> > >
[ cl scalar] S| < <3| < <S> = <> > >
[cl column] <> <> <> <> > >
[clrow] < < < < = >
[ clroot] =
[c1]
BN

[ |
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B, [ be body | [ b body ] [b2] [b3]

Right ) LBC. LB2]
Left inJov | If JinJov ] IfJinfJov| IfJinfJov|If]infJov] If]in]ov]If
LB
[ be body ] = = < <
[ b body ]

[b2]
[b3]
i_?f_:__: > > <> <>
L B2
LB
Right | Tecnical Id. | |Appli,0rient. |d.| [ bc scalar ] [ bc column ] [ bcrow] [ be root ] L
Left inJov i It JinfJov] It JinfJov|IfJinfJov|IfJinJov] If|inJov]|If]in
<>|l<>| el S| <> > <> > >
[epicientid]|  |<>|<>] <>l <S> <] > <> > >
[ be scalar ] <> < <> < <S> < <3| = <> > >
[ bc column | <> <> <> <> <> > >
[ bc row] < < < < < - >
[ bc root ] =
LBC
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Right [c2scalar] | [c2column] | [c2row] [ c2 root ] rc2 [c2]
Left inJov] i JlinJov] It linJov]lflinJov]flinJov] f]linJov] If]inJov] If
<> <> <3| <> <> > <> > >
[ c2 scalar] <) < <3| < <3| = <> > >
[ ¢2 column ] <> <> <> <> > g
[c2row] < < < < = >
[ c2 root] =
[c2]
LC2
Right| [csrerminaisym| | [c3scalar] | [c3column] | [c3row] [c3root] 1 c3 [c3]
Left inJov] i JinJov] i linJov]l It linJov]fJlinJov] If]linJov] If]inJov] If
<> <> <3| <> <> > <> > >
[ c3 scalar] <) < <3 < <3| = <> > >
[ ¢3 column ] <> <> <> <> > g
[c3row] < < < < = >
[ c3 root] =
[c3]
L3
Right| [caverminaisym| | [c4 scalar] | [c4column] | [c4row] [c4root] rca [c4]
Left inJov] i JinJov] It linJov it linJov]flinJov] If]inJov] If]inJov] If
<> <> <3>I<> <> > <> > >
[ c4 scalar ] <> < <3| < <3| = <> > >
[ ¢4 column ] <> <> <> <> > g
[c4row] < < < < = >
[ c4 root] =
[c4]
LA
Right| [csrerminarsym] | [c5scalar] | [c5column] | [c5row] [ ¢5 root ] | C5 [c5]
Left inJov] il inJov] It linJov]lflinJov]flinJov]f]linJov] If]inJov] If
<> <> <3 <> <> > <> > >
[ c5 scalar ] <> < <3 < <S> = <> > >
[ ¢5 column ] <> <> <> <> > g
[c5row] < < < < — >
[c5root] =
[c5]
o
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Right [c6scalar] | [c6coumn] | [c6row] [ c6 root | 1 C6_ [c6]
Left inJov| If linJov ] If|]in]ov] If in | ov | If in | ov | If in | ov | If in | ov | If
<>|<> <>l<> <> > <> > >
[ c6 scalar] <) < <3| < <3| = <> > >
[ ¢6 column ] <> <> <> <> > g
[c6row] < < < < = >
[ c6 root ] =
[c6]
L Co)
Right [discalar] | [dlcolumn] | [d1row] [d1 root] ' D1 [d1]
Left mMJov] F [ nJov][ F | mJov] T m[ov[ [ inJov][F|[mJov] [ mJov][ T
SN HEEREEHEE > >
[d1 scalar] <3| < <3| < <> = <> > >
[d1 column ] <> <> <> <> > >
[d1 row] < < < < = >
[ d1 root] =
[d1]
L DL
Right| [ozrerminaisym] | [d2 scalar] | [d2 column] | [d2row] [d2 root] ' D2 [d2]
Left mMJov] F [ mJov][ F [ mJov] T mJov[ ¥ [ nJov][F[mJov][ | mJov][ T
SN HEEREEHEE > >
[ d2 scalar ] <3| < <3| < <> = <> > >
[ d2 column ] <> <> <> <> > >
[d2 row] < < < < = >
[ d2 root ] =
[d2]
L D2

37




Right
Left

[ cc body ]
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Right| [ variants ] |[procedure name]| [ ccscalar] | [cc column] [ccrow] [ ccroot] E :cé:
Left inJov] IflinJov ] iflinJov ] flinJov] flinJov] f]linJov] f]inJov] If
<> <> <> <> <3I<> <> > <> > >
<> <> <> <> <3 <> <> > <> > >
[ cc scalar | <> < | < <3| < S| = <> > >
[ cc column ] <> <> <> <> <> > >
[ccrow] < < < < < = >
[ccroot] =
LCC
Right [ head scalar ] |[ head column]| [headrow] | [head root] EI{ezari' [ head
Left inJov] If JinJov ] iflinJov i flinJov] flinJov] f]linJov] f]inJov] If
<> <> <3 <> <> > <> > >
[ head scalar | S| < <3| < <SS = <> > >
[ head column | <> <> <> <> > >
[ head row ] < < < < - >
[ head root ] =
[ head ]
LHead,
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Right
Left

[ innerstruct ]

[ head ]

[ body]
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in
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oV

oV

[

[ innerstruct ]

It

[head ]

IHEAD!

\VA Y

<>

<>

[ body ]

[al]

[a2]

[a3]

[a4]

[a5]

[a6]

[b]

[b1]

[c]

[cl]

[d1]

[d2]

>Hixth»>
wipor) -

thisthistfist
oo s

o)

w!
(=]

o

1igiphg!
inih=mihea
[N | [N} (R | Py}

40




Right
Left
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Right
Left
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